PRIMITIVE FUNCTIONS

1 Find the primitive of:
(@) 6x*—4x+5 (b) 3+5x+x -3x (c) -

o) |fa2—box +5) di = 622 — 42 +5x +C = 2x2-2x*+5x +C
3 v

2 If f’(x)=(x—-1)(x = 2), indicate whether each statement below is correct or incorrect.
3
(a) f’(x)=xz—3x+2 (b) f(x)————T+2x+C

(x=1)*(x-2)
4

© f()=@x-1>(x-2+C @ f(x)= +C

g/(,)= wi_x-2x+2 = AT=-3x t2 s «) correct

f(x): £ 2)% +92x +C /50 j/ correct
X .
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PRIMITIVE FUNCTIONS

3 Find an expression for f(x) given:

@ f(x)=@x+1) ) f(x)=5 (© f(x)=x"+3x
+ulm=/ x4+ b +1) da = b2 +422 +2 + C
”f/[ZX ) (4 . ) ¢ 5
oo x> + 2x* + x +C
5
L }50\4_;51+C ao [()= S= TC

5 Express y in terms of x, given that:

(a) %=3+2x-3x2 (b) “ix—’v=253+2x2 (c) %:x“—x3
5 P i
”ﬂ yzﬂz, —I—ZZ,—-_%’LZ)&/X_ -3 +Z_xif —5_% LC _3xt=n"+C

b }:I{)L54—22’,2)M:%j +2__L:£’_ fiC
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PRIMITIVE FUNCTIONS

7 Find f(x) given f'(x)=2x—-2and f(1)=4.

f/x)z/(u-zw _o_ 2z 4+C = L2 +C
jd

Bt f/():4 /Y0 P2x(+C =%

oY _,.’_}_(’:4 /30 C’:S—
g/l): ll——ll +5

d
9 Atall points on a certain curve, % = 4x - 6. The point (2,4) is on the curve. Find the equation of the curve.

gfl):/(lc:(__é)dxz, s hp® =br Hl & LF e L
2

Bur g{z);l/ gs Mg Pz d®~Fxl IL
L = &8 =12 +C
b = -4 +C
So (=8 fx)=2x2—6z+2

10 Find the equation of a curve that passes through the point (3, 3) and for which the gradient function at any
point P(x,y) is 3x* — 2x + 3.

6[1):/(312—-2x+5>0\m = 3%% —Z_7Z_cf +3x +C

SO g()L): ?(,3__ 7\/,2+37C ‘,"C/

br (-3 e 3=37-3%43x3C
2-2%+-9 + 1 +C

3. Pk /aogz;zﬂ

f[") _ - X +3x — L4
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dy dy

12 Find the equation of a curve given thatzx—=2x+bat any point P and that when x=3,a=2and y=-3.
v Z
a;/(lx-%b)bt _2x% Fbr +C =P+ b +C
z

Bur ﬁzz whot. =3 0 2x3+b=12
s 6 +b=2 Lb:—é

a)Ml }:_3 \A&M%zg

2 =D sd =bidd +E

s (=0 M

18 If velocity v is the rate of change of distance d as a function of time , find the distance function if
v=3r+4and d=0 when t=0.

V= dd) % Al =/(3t2+4)dt

de
WW=2Lt> +4E +C _tP+4E +C
e
=10~ fo
oF =0 7 4 =0 g6 D=l 840
2o (=0

)= £+ bE
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